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B) struct STUDENT
{

char id[8];
char name[21];
char class[9];
unsigned int point;
char eval;

}s
struct STUDENT x;

strepy (x. id, 712x01237) ;
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strepy (x. name, ~_EHESETF);
strepy (x. class, “z10212347) ;

X. point

100;
X. eval S
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/% progld—1.c */

#include <stdio.h>
#tinclude <stdlib.h>
#tinclude <string.h>

fidefine MAX 5

int main(void)

{

struct STUDENT

{
char id[8];
char name[21];
char class[9];
unsigned int point;
char eval;

E

struct STUDENT prog[MAX];

int 1i;
char temp([9];
FILE *fpr;

if (NULL == (fpr = fopen(”stprog.csv”’, "w”)))
{

printf (“stprog 7 —% 7 7 A AT EHA, ¥n7);
exit(1);
}

fprintf (fpr, "FFEHR 7>, K4, BREFH 22— 8, 5%, #Hiin") ;

for (i=0; i<MAX; i++)
{

printf("%d ABDOBERH 2 —FEZ AL TV 7, i+l);

scanf (" %s”, temp);
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if (stremp(temp, “x10432347) == 0)
{
strepy (proglil. class, temp);

printf ("%d NB OFEZEEZ AN LTI EI WV 7, i+l]);
scanf (” %s”, proglil.id);

printf ("%d ABDOKAZAT LTSSV 7, i+]);
scanf (” %s”, progli].name);

printf ("%d NBEDSEEAN LT ZEW 7, i+l);
scanf (” %u”, &proglil.point);

printf ("%d NB OFHE AN LT 7ZEW 7, it+l);
scanf (" %c”, &proglil.eval);

fprintf (fpr, “%s, %s, %s, %u, %c¥n”,
proglil. id, prog[i]. name, progli]. class, prog[i]. point, prog[i]. eval);

}

else

{
printf CBERNEa—RFRBELLHY A,
f%ﬁ*%ﬂﬁbf<ﬁéwo%ﬁ;

1

}
fclose (fpr) ;

return 0;
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/* progld-2.c */

#tinclude <stdio.h>
ttinclude <stdlib.h>
#include <string.h>

#define MAX 5
#define MAXBUF 256

char headln[MAXBUF];

struct STUDENT

{

}s

char id[8];
char name[21];
char class[9];
char point[4];
char eval [2];

void dispdata(struct STUDENT [], int):

int main(void)

{

struct STUDENT prog[MAX];

int 1i;
char temp[MAXBUF];
FILE *fpr;

if (NULL == (fpr = fopen(”stprog.csv’,’r”)))

{
printf (“stprog 7 —% 7 7 A VBT EHA, )
exit(1);

}

fgets(headln, sizeof headln, fpr);

for (i=0; i<MAX; i++)
{
if (fgets(temp, sizeof temp, fpr) == NULL) break;

strepy (proglil. id, strtok(temp,”,¥n”));
strepy (progli]. name, strtok (NULL, ”, ¥n”));
strepy (proglil. class, strtok (NULL,”, ¥n”));
strepy (progli]. point, strtok (NULL,”, ¥n”));
strepy (proglil. eval, strtok (NULL,”, ¥n”)) ;

}
dispdata (prog, MAX);
fclose (fpr) ;

return 0;




IurI I/ 1 14 BB B iR HEA

void dispdata(struct STUDENT datal], int n)
{

int 1;
printf (”  %s”, headln);
for (i=0; i<n; i++)

printf ("%d) %s, %s, %s, %s, %s¥n”, i+l,
datali].id, data[i]. name, datalil. class, datali].point, datali]. eval);
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/* exl4-1.c */

#include <stdio.h>
f#include <stdlib.h>
#include <string. h>

fidefine MAX 5
int main(int argc, char *argv[])

{
struct STUDENT

{
char id[8];
char name[21];
char class[9];
unsigned int point;
char eval;
2

struct STUDENT prog[MAX];
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int 1i;

FILE *fpr;

if (arge 1= 1) )

{
printf ("FIHE @ ex14-1 BERIE =— F¥n”) ;
exit(1);

}

if (NULL == (fpr = fopen(“stprog_ex.csv”’, "w”)))

{
printf ("stprog ex T—H 7 7 A LHBAITE A, ¥n7);
exit(1);

}

fprintf (fpr, "FFEH 7>, K4, BEFH 2 — F, 5%, #Hiin") ;

for (i=0; i<MAX; i++)
{

strepy (progli]. class, 2) )

printf ("%d NHDFEZESEZ AL T IV 7, itl);
scanf (" %s”, progli].id);

printf ("%d ABDOKRAZ AT LTI EEW 7, i+]);
scanf (" %s”, progli].name);

printf ("%d NHDSEAEAN LT EE W 7, i+l);
scanf (” %u”, &proglil.point);

printf ("%d NHDOFHMIAZ AN LT 7, i+l);
scanf (" %c”, &proglil.eval);

fprintf (fpr, “%s, %s, %s, %u, %c¥n”,
progl[il. id, prog[i]. name, prog[i]. class, progli]. point, prog[i]. eval);
}
fclose (fpr) ;

return 0;
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char s1[30];
char s2[]=".csv”;

strepy(sl, argv[l]);

2) BIZXTFHEREEIT D T4 7T VB strcat # VT, %EZHIEITEBT 5,

strecat (s1, s2) ;
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